

A LINEAR OPERATOR AND ITS APPLICATIONS ON MEROMORPHIC p -VALENT FUNCTIONS

BY

JIN-LIN LIU (劉金林)

Abstract. Let \sum_p be the class of functions of the form $f(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p}$ which are analytic and p -valent in $D = \{z : 0 < |z| < 1\}$. A new linear operator $L_p(a, c)$ is introduced. The object of this paper is to investigate some properties of the operator $L_p(a, c)$.

1. Introduction. Let \sum_p denote the class of functions of the form

$$(1.1) \quad f(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p} \quad (p \in N = \{1, 2, 3, \dots\})$$

which are analytic and p -valent in $D = \{z : 0 < |z| < 1\}$.

For functions $f_j(z)$ ($j = 1, 2$) defined by

$$(1.2) \quad f_j(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p,j} z^{k-p},$$

we denote the Hadamard product (or convolution) of $f_1(z)$ and $f_2(z)$ by

$$(1.3) \quad (f_1 * f_2)(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p,1} a_{k-p,2} z^{k-p}.$$

Received by the editors September 11, 2001.

AMS 2000 Subject Classification: 30C45, 30C50.

Key words and phrases: Linear operator, subordination, meromorphic.

Now we define the function $\phi_p(a, c; z)$ by

$$(1.4) \quad \phi_p(a, c; z) = z^{-p} + \sum_{k=1}^{\infty} \frac{(a)_k}{(c)_k} z^{k-p} \quad (c \neq 0, -1, -2, \dots),$$

where $(x)_k$ is the Pochhammer symbol. We note that

$$\phi_p(a, c; z) = z^{-p} {}_2F_1(1, a; c; z)$$

where

$${}_2F_1(1, a; c; z) = \sum_{k=0}^{\infty} \frac{(1)_k (a)_k}{(c)_k} \frac{z^k}{k!}$$

Corresponding to the function $\phi_p(a, c; z)$, we define a new linear operator $L_p(a, c)$ on Σ_p by the Hadamard product for $f(z) \in \Sigma_p$

$$(1.5) \quad L_p(a, c)f(z) = \phi_p(a, c; z) * f(z).$$

In [2], Yang investigated the following operator D^{n+p-1} for $f(z) \in \Sigma_p$

$$(1.6) \quad \begin{aligned} D^{n+p-1}f(z) &= \frac{1}{z^p(1-z)^{n+p}} * f(z) \\ &= \frac{(z^{n+2p-1}f(z))^{(n+p-1)}}{(n+p-1)!z^p}, \end{aligned}$$

where n is any integer greater than $-p$.

For a function $f(z) \in \Sigma_p$, we define the integral operator $J_{v,p}$ by

$$(1.7) \quad J_{v,p}f(z) = \frac{v}{z^{v+p}} \int_0^z t^{v+p-1} f(t) dt \quad (v > 0).$$

There are many papers [1,2,3] in which the operator $J_{v,p}$ was investigated.

Putting $a = n + p$ and $c = 1$ in (1.5), we have $L_p(n + p, 1)f(z) = D^{n+p-1}f(z)$. Setting $a = v$ and $c = v + 1$ in (1.5), we obtain $L_p(v, v + 1)f(z) = J_{v,p}f(z)$.

Let $f(z)$ and $F(z)$ be analytic in the open unit disc $E = \{z : |z| < 1\}$. The function $f(z)$ is subordination to $F(z)$, written $f(z) \prec F(z)$, if $F(z)$ is univalent, $f(0) = F(0)$ and $f(E) \subset F(E)$.

In this paper, we shall investigate some properties of the linear operator $L_p(a, c)$ defined on meromorphic p -valent functions

2. Preliminaries. In order to give our theorems, we need following lemmas.

Lemma 1. *If $f(z) \in \Sigma_p$, then*

$$(2.1) \quad z(L_p(a, c)f(z))' = aL_p(a + 1, c)f(z) - (a + p)L_p(a, c)f(z),$$

where $c \neq 0, -1, -2, \dots$

Proof. Note that

$$L_p(a, c)f(z) = z^{-p} + \sum_{k=1}^{\infty} \frac{(a)_k}{(c)_k} a_{k-p} z^{k-p}$$

and

$$L_p(a + 1, c)f(z) = z^{-p} + \sum_{k=1}^{\infty} \frac{(a + 1)_k}{(c)_k} a_{k-p} z^{k-p}.$$

These give that

$$\begin{aligned} & aL_p(a + 1, c)f(z) - (a + p)L_p(a, c)f(z) \\ &= [az^{-p} + \sum_{k=1}^{\infty} (a+k) \frac{(a)_k}{(c)_k} a_{k-p} z^{k-p}] - [(a+p)z^{-p} + \sum_{k=1}^{\infty} (a+p) \frac{(a)_k}{(c)_k} a_{k-p} z^{k-p}] \\ &= -pz^{-p} + \sum_{k=1}^{\infty} (k-p) \frac{(a)_k}{(c)_k} a_{k-p} z^{k-p} \\ &= z(L_p(a, c)f(z))'. \end{aligned}$$

This proves (2.1).

Lemma 2.(see [4]). *Let Ω be a set in the complex plane C and let b be a complex number satisfying $\operatorname{Re} b > 0$. Suppose that the function $\psi : C^2 \times E \rightarrow C$ satisfies the condition*

$$(2.2) \quad \psi(ix, y; z) \notin \Omega$$

for all real $x, y \leq -|b - ix|^2/(2\operatorname{Re} b)$ and all $z \in E$. If the function $p(z)$ defined by $p(z) = b + a_1z + a_2z^2 + \dots$ is analytic in E and if $\psi(p(z), zp'(z); z) \in \Omega$, then $\operatorname{Re} p(z) > 0$ in E .

3. Main Results. In this section, we shall derive some properties of the linear operator $L_p(a, c)$.

Theorem 1. *Let $f(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p}z^{k-p} \in \Sigma_p$. Let $\beta \geq 1, a > 0$ and $0 \leq \alpha < 1$. Then*

$$(3.1) \quad \operatorname{Re} \left\{ \frac{L_p(a+1, c)f(z)}{L_p(a, c)f(z)} \right\} < 1 + \frac{1-\alpha}{a} \quad (z \in E)$$

implies

$$(3.2) \quad \operatorname{Re} \{ (z^p L_p(a, c)f(z))^{-1/2\beta(1-\alpha)} \} > 2^{-1/\beta} \quad (z \in E).$$

The result is sharp.

Proof. From (2.1) and (3.1), we have

$$\operatorname{Re} \left\{ -\frac{z(L_p(a, c)f(z))'}{L_p(a, c)f(z)} \right\} > p + \alpha - 1 \quad (z \in E).$$

That is,

$$(3.3) \quad -\frac{1}{2(1-\alpha)} \left[\frac{z(L_p(a, c)f(z))'}{L_p(a, c)f(z)} + p \right] < \frac{z}{1-z}.$$

Let

$$p(z) = [z^p L_p(a, c)f(z)]^{-1/2(1-\alpha)},$$

then (3.3) may be written as

$$(3.4) \quad z[\log p(z)]' \prec z \left[\log \frac{1}{1-z} \right]'$$

Using a well-known result [9] to (3.4), we find that

$$p(z) = [z^p L_p(a, c) f(z)]^{-1/2(1-\alpha)} \prec \frac{1}{1-z},$$

that is, that

$$(3.5) \quad [z^p L_p(a, c) f(z)]^{-1/2\beta(1-\alpha)} = \left(\frac{1}{1-w(z)} \right)^{1/\beta},$$

where $w(z)$ is analytic in E , $w(0) = 0$ and $|w(z)| < 1$ for $z \in E$.

According to $\operatorname{Re}(t^{1/\beta}) \geq (\operatorname{Re} t)^{1/\beta}$ for $\operatorname{Re} t > 0$ and $\beta \geq 1$, (3.5) yields

$$\begin{aligned} \operatorname{Re} \left\{ [z^p L_p(a, c) f(z)]^{-1/2\beta(1-\alpha)} \right\} &\geq \left[\operatorname{Re} \frac{1}{1-w(z)} \right]^{1/\beta} \\ &> 2^{-1/\beta} \quad (z \in E). \end{aligned}$$

Further, we see that the result is sharp for the function

$$f(z) = z^{-p} + \sum_{k=1}^{\infty} \frac{c(c+1) \cdots (c+k-1)(2\alpha-2)(2\alpha-1) \cdots (2\alpha+k-3)}{a(a+1) \cdots (a+k-1)} z^{k-p}.$$

This completes the proof.

Theorem 2. Let $f(z) = z^{-p} + \sum_{k=1}^{\infty} a_{k-p} z^{k-p} \in \Sigma_p$ and let $a > 0$, $\alpha > 1$ and $0 \leq \lambda < a+1$. Then

$$(3.6) \quad \operatorname{Re} \left\{ (1-\lambda) \frac{L_p(a+1, c) f(z)}{L_p(a, c) f(z)} + \lambda \frac{L_p(a+2, c) f(z)}{L_p(a+1, c) f(z)} \right\} < \alpha \quad (z \in E)$$

implies

$$(3.7) \quad \operatorname{Re} \left\{ \frac{L_p(a+1, c)f(z)}{L_p(a, c)f(z)} \right\} < \beta \quad (z \in E),$$

where $\beta \in [\alpha, +\infty)$ is the positive root of the equation

$$(3.8) \quad 2(a+1-\lambda)x^2 + [3\lambda - 2(a+1)\alpha]x - \lambda = 0.$$

Proof. Let

$$(3.9) \quad p(z) = \frac{1}{\beta-1} \left[\beta - \frac{L_p(a+1, c)f(z)}{L_p(a, c)f(z)} \right],$$

then $p(z)$ is analytic in E and $p(0) = 1$. Differentiating (3.9) and using Lemma 1 we deduce that

$$\begin{aligned} & (1-\lambda) \frac{L_p(a+1, c)f(z)}{L_p(a, c)f(z)} + \lambda \frac{L_p(a+2, c)f(z)}{L_p(a+1, c)f(z)} \\ &= \beta - \frac{\lambda(\beta-1)}{a+1} - \frac{(\beta-1)(a+1-\lambda)}{a+1} p(z) - \frac{\lambda(\beta-1)}{a+1} \frac{zp'(z)}{\beta - (\beta-1)p(z)} \\ &= \psi(p(z), zp'(z)) \end{aligned}$$

where

$$(3.10) \quad \psi(r, s) = \beta - \frac{\lambda(\beta-1)}{a+1} - \frac{(\beta-1)(a+1-\lambda)}{a+1} r - \frac{\lambda(\beta-1)}{a+1} \frac{s}{\beta - (\beta-1)r}.$$

Using (3.6) and (3.10), we have

$$\{\psi(p(z), zp'(z)) : z \in E\} \subset \Omega = \{w \in C : \operatorname{Re} w < \alpha\}.$$

Now for all real $x, y \leq -\frac{1+x^2}{2}$, we obtain

$$\begin{aligned} \operatorname{Re}\{\psi(ix, y)\} &= \beta - \frac{\lambda(\beta-1)}{a+1} - \frac{\lambda(\beta-1)y}{a+1} \frac{\beta}{\beta^2 + (\beta-1)^2 x^2} \\ &\geq \beta - \frac{\lambda(\beta-1)}{a+1} + \frac{\lambda(\beta-1)\beta}{2(a+1)} \frac{1+x^2}{\beta^2 + (\beta-1)^2 x^2} \end{aligned}$$

$$\begin{aligned} &\geq \beta - \frac{\lambda(\beta - 1)}{a + 1} + \frac{\lambda(\beta - 1)}{2\beta(a + 1)} \\ &= \beta + \frac{\lambda(\beta - 1)(1 - 2\beta)}{2(a + 1)\beta} = \alpha, \end{aligned}$$

where β is the positive root of the equation (3.8).

Note that $0 \leq \lambda < a + 1$ and $f(\alpha) = -\lambda(2\alpha - 1)(\alpha - 1) \leq 0$, then we have $\beta \in [\alpha, +\infty)$. Hence for each $z \in E$, $\psi(ix, y) \notin \Omega$. By Lemma 2, we get $\operatorname{Re} p(z) > 0$. This proves (3.7).

Theorem 3. *Let λ, α, a be real number with $\lambda \geq 0, \alpha > 1$ and $a > 0$.*

Let $g(z) \in \Sigma_p$ satisfy

$$(3.11) \quad \operatorname{Re} \left\{ \frac{L_p(a, c)g(z)}{L_p(a + 1, c)g(z)} \right\} > \delta \quad (0 \leq \delta < 1).$$

If $f(z) \in \Sigma_p$ satisfies

$$(3.12) \quad \operatorname{Re} \left\{ (1 - \lambda) \frac{L_p(a, c)f(z)}{L_p(a, c)g(z)} + \lambda \frac{L_p(a + 1, c)f(z)}{L_p(a + 1, c)g(z)} \right\} < \alpha \quad (z \in E),$$

then we have

$$(3.13) \quad \operatorname{Re} \left\{ \frac{L_p(a, c)f(z)}{L_p(a, c)g(z)} \right\} < \frac{2\alpha a + \lambda\delta}{2a + \lambda\delta} \quad (z \in E).$$

Proof. Let $\beta = \frac{2\alpha a + \lambda\delta}{2a + \lambda\delta}$ and consider the function

$$u(z) = \frac{1}{\beta - 1} \left[\beta - \frac{L_p(a, c)f(z)}{L_p(a, c)g(z)} \right].$$

The function $u(z)$ is analytic in E and $u(0) = 1$. Set $B(z) = L_p(a, c)g(z)/L_p(a + 1, c)g(z)$, then $\operatorname{Re} B(z) > \delta$. Differentiating $u(z)$ and using Lemma 1, we

have

$$\begin{aligned} (1 - \lambda) \frac{L_p(a, c)f(z)}{L_p(a, c)g(z)} + \lambda \frac{L_p(a + 1, c)f(z)}{L_p(a + 1, c)g(z)} \\ = \beta - (\beta - 1)u(z) - \frac{\lambda(\beta - 1)}{a}B(z)zu'(z). \end{aligned}$$

Let,

$$\psi(r, s) = \beta - (\beta - 1)r - \frac{\lambda(\beta - 1)}{a}B(z)s$$

then from (3.12), we deduce that

$$\{\psi(u(z), zu'(z)) : z \in E\} \subset \Omega = \{w \in C : \operatorname{Re} w < \alpha\}.$$

Now for all real $x, y \leq -(1 + x^2)/2$ we have

$$\begin{aligned} \operatorname{Re}\{\psi(ix, y)\} &= \beta - \frac{\lambda(\beta - 1)y}{a} \operatorname{Re} B(z) \\ &\geq \beta + \frac{\lambda(\beta - 1)\delta}{2a}(1 + x^2) \\ &\geq \beta + \frac{\lambda(\beta - 1)\delta}{2a} = \alpha \end{aligned}$$

Hence for each $z \in E$, $\psi(ix, y) \notin \Omega$. Thus by Lemma 2, $\operatorname{Re} u(z) > 0$ in E .

The proof of the theorem is complete.

From the proof of Theorem 3, we can easily have the following corollaries.

Corollary 1. *Let λ, α, a be real number such that $\lambda \geq 1, \alpha > 1$ and $a > 0$. Let $g(z) \in \Sigma_p$ satisfy the condition (3.11). If $f(z) \in \Sigma_p$ satisfies (3.12), then we have*

$$\operatorname{Re} \left\{ \frac{L_p(a + 1, c)f(z)}{L_p(a + 1, c)g(z)} \right\} < \frac{\alpha(2a + \delta) + \delta(\lambda - 1)}{2a + \lambda\delta} \quad (z \in E).$$

Taking $a = n + p$ and $c = 1$ in Theorem 3, we have

Corollary 2. *Let λ, α be real number with $\lambda \geq 0, \alpha > 1$. Let $g(z) \in \Sigma_p$*

satisfy

$$\operatorname{Re}\left\{\frac{D^{n+p-1}g(z)}{D^{n+p}g(z)}\right\} > \delta \quad (0 \leq \delta < 1).$$

If $f(z) \in \Sigma_p$ satisfies

$$\operatorname{Re}\left\{(1-\lambda)\frac{D^{n+p-1}f(z)}{D^{n+p-1}g(z)} + \lambda\frac{D^{n+p}f(z)}{D^{n+p}g(z)}\right\} < \alpha \quad (z \in E),$$

then we have

$$\operatorname{Re}\left\{\frac{D^{n+p-1}f(z)}{D^{n+p-1}g(z)}\right\} < \frac{2\alpha(n+p) + \lambda\delta}{2(n+p) + \lambda\delta} \quad (z \in E).$$

Putting $a = v$ and $c = v + 1$ in Theorem 3, we obtain

Corollary 3. *Let λ, α, v be real number with $\lambda \geq 0, \alpha > 1$ and $v > 0$.*

Let $g(z) \in \Sigma_p$ satisfy

$$\operatorname{Re}\left\{\frac{J_{v,p}g(z)}{g(z)}\right\} > \delta \quad (0 \leq \delta < 1).$$

If $f(z) \in \Sigma_p$ satisfies

$$\operatorname{Re}\left\{(1-\lambda)\frac{J_{v,p}f(z)}{J_{v,p}g(z)} + \lambda\frac{f(z)}{g(z)}\right\} < \alpha \quad (z \in E),$$

then we have

$$\operatorname{Re}\left\{\frac{J_{v,p}f(z)}{J_{v,p}g(z)}\right\} < \frac{2\alpha v + \lambda\delta}{2v + \lambda\delta} \quad (z \in E).$$

References

1. B. A. Uralegaddi and C. Somanatha, *New Criteria for meromorphic starlike univalent functions*, Bull. Austral. Math. Soc., **43**(1991), 137-140.
2. Yang Dinggong, *On a class of meromorphic starlike multivalent functions*, Bull. Institute Math. Academia Sinica, **24**(1996), 151-157.

3. M. K. Aouf and H. M. Hossen, *New criteria for meromorphic p -valent starlike functions*, Tsukuba J. Math., **17**(1993), 481-486.
4. S. S. Miller and P. T. Mocanu, *Differential subordination and univalent functions*, Michigan Math. J., **28**(1981), 157-171.
5. M. Abramowitz and I. A. Stegun, *Hand Book of Mathematical Functions*, Dover Publications, Inc., New York, 1972.
6. S. Ponnusamy, *Differential Subordination and Starlike functions*, Complex Variables, **19**(1992), 185-194.
7. J. Patel and S. Rout, *Properties of certain analytic functions involving Ruscheweyh derivatives*, Math. Japonica, **39**(1994), 509-518.
8. H. Saitoh, *A linear operator and its application of first order differential subordinations*, Math. Japonica, **44**(1996), 31-38.
9. T. J. Suffridge, *Some remarks on convex maps of the unit disk*, Duke Math. J., **37**(1970), 775-777.

Department of Mathematics, Yangzhou University, Yangzhou 225002, People's Republic of China.